IM=P=X

P R 0 D U
MARCY
WEIGHT BENCH
MWB-479

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling
this product.

Assembly Manual
120323




©IMPEX INC.

#9x1

#15%1

www.impex-fitness.com

#19x1

#16x1

#23x1

#11x2

#14x1

#17x1

?

#28x1



©IMPEX INC.

@ Wil

#31x1

#33x1
ll

AN
#34x4

v i

#35%4 #32x6

© ® ©

#36x8 #37%8 #38x8

Il

5|

am )

#39x7 #40x1

www.impex-fitness.com 2



#38 4 @ 3

LR (s w— 4 MI10 x 3 b
©
imy

O©IMPEX INC.  www.impex-fitness.com 3



#30 (e 2 M10 x 21"
#32 o 4 M8 x §r
#33 - 1 M8 x 2}
#37 © 6 o

#38 © 2 g

#39 [1m3) 2 MI10
#40 i) 1 M8

O©IMPEX INC.  www.impex-fitness.com 4




M10 x 2 3"

#31

@%n
MI10

© B

#38
#39

www.impex-fitness.com

©IMPEX INC.



#32 @ 2 MBS x gn

#34 — 4 M6 x 1} gh

#35 D— 4 M6 x 13

#36 ©) 8 8 ‘
2

#37 ©

O©IMPEX INC.  www.impex-fitness.com 6



www.impex-fitness.com

©IMPEX INC.



O©IMPEX INC.  www.impex-fitness.com 8



IMPEX® INC.

14777 DON JULIAN RD., CITY OF INDUSTRY, CA 91746
Tel: (800) 999-8899 Fax: (626) 961-9966
www.impex-fitness.com
info@impex-fitness.com

O©IMPEX INC.  www.impex-fitness.com 0



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

